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T AERE = 1 93, 890, 743
FREE T Y 1 69, 955, 008
PEBABRIE T = 1 68, 720, 400 |[REL 7,070, 000 m2
KB BREL T = 1 1,234,608 |FREL 53, 400 m2
AT = 1 9,392, 170
CEAT = 1 9,392,170 | fiti ™ 61, 000 m2
M mAL AR JIEHE & 500kg/ Tm2
AR 122, 000 m2
PAR+EE L
HEEAE T = 1 617, 700
HR[E 7 nys T Y 1 617,700 |fR[E D7 ny)PEft 100 1A
MEfR7 vy 7wy (R E) 2t 7 myJEEA
A -
THIZARE 6D 7 ny ) EE i 100 &
2.5tLA T RHAA RS (ELEE) 5 4. 5kmPA T
iEw e T Y 1 324, 600
DVEINAET Y 1 324,600 | £ CATIE 3 e 1EY)
20mAw A & PE AR MG
AV T Y 1 10, 500, 000
AR ES T = 1 10, 500, 000 |IEAfEE 1 =
H K REER IR 5 = 1 1, 950, 000
HIZK IRF S IR P FE 2 3 75 =y 1 1,950, 000 | H 7K REAEHR 0 g 1 =
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PR BERREEZE = 1 1, 151, 265
PR BERREEZE = 1 448,785 |HEAK R FHEHIEZE (A) 15 PR
HEAK AR > 7 B SE 10 |
30m3/min ;
HEAK AR > 7 B SE 5 R
60m3/min ;
HEE B9 B R SE (B) 10 R
6 A EL I R 10 R
1. 2kw X 64T ;
BRI 1 2V
AR = 1 702, 480 | H st 12 =]
[EREES 2V 1 93, 890, 743
Il R = 1 7,588, 100
st = 1 31, 100
B gy = 1 31,100 |BREE| W BEAE 1 =
Il (it L) = 1 7, 557, 000
il T = 1 101, 478, 843
Bl 2V 1 36, 031, 000
T =5 = 1 137, 509, 843
— R B 2V 1 22, 340, 157
T =AM = 1 159, 850, 000
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